1 - 10 Inverse
Find the inverse by Gauss-Jordan (or by numbered line (4%), p. 304, if n = 2). Check by
using numbered line (1), p. 301.

1 ( —10. .8205 _02. .6302 )

ClearAll["Global™ *"]

el = ( 1.80 —2.32)

-0.25 0.60
{{1.8, -2.32}, {-0.25, 0.6}}

e2 = Inverse[el]

{{1.2, 4.64}, {0.5, 3.6}}

The above cell matches the answer in the text.

e3 =el.e2 // MatrixForm
(1. 0.)

0. 1.
ClearAll["Global *"]

2 6 4

0.3 -0.1 0.5
5 0 9 ]

0.3 -0.1 0.5
e1=[ 2 6 4 J
5 0 9
{{0‘3I _0‘1I 0’5}I {21 6! 4}! {51 ol 9}}

e2 = Inverse[el]

{{54., 0.9, -3.4}, {2., 0.2, -0.2}, {-30., -0.5, 2.}}

The above cell matches the answer in the text. Checking,

e3 =el.e2 // MatrixForm

1. 0. O.
[0. 1. 0.)

0. 0. 1.
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gN R
& 1o
— o o

ClearAll["Global™ *"]

100
e1=[2 1 o)

541
({1, o, 0}, {2, 1, 0}, {5, 4, 1}}

e2 = Inverse[el]
{{11 ol 0}, {‘27 1! o}l '[31 ‘41 1}}

The above cell matches the answer in the text. Checking,

e3 =el.e2 // MatrixForm

1 00
[0 10 )

001

o = O
o O
= O O

ClearAll["Global *"]

010
el= [1 0 o)

001
{{o, 1, 0}, {1, 0, 0}, {0, O, 1}}

e2 = Inverse[el]
{{o, 1, 0}, {1, 0, O}, {0, O, 1}}

The above cell matches the answer in the text. Checking,

e3 =-el.e2 // MatrixForm

100
[0 10 ]

0 01

N O O
O O @
o & O

ClearAll["Global™ *"]
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0 80
e1=[0 0 4)
200
{{o, &, 0}, {0, O, 4}, {2, O, O}}

e2 = Inverse[el]
1 1 1
{{o. 0, =}, {5, 0. 0}, {o, ., 0}

The above cell matches the answer in the text. Checking,

e3 =el.e2 // MatrixForm

1 00
[010)

0 01



